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ECONOMICS HSSC-I
SECTION ~ A (Marks 20)

Time allowed: 25 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 25 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.

(0
(i

iii)

(v)

(xi)

(xii)
(xiii)
(xiv)

{xv)

(xvi)
{xvii)

(xviii)

(xix)

(xx)

For Examiner’s use only:

Who defined economics as a study of Material Welfare?

A Robbins B. Marshall C. Ricardo D. Keynes
Scarcity of resources exists
A In poor countries only
B. Because people can not limit their wants
C. Because society produces less important goods
D. Because society does not use resources efficiently
Profit is maximum when
A TR is maximum B. TC is minimum
C. Sales are maximum D Difference between TR and TC is maximum
A factory is an example of
A Capital B. Scarcity
C. Natural resources D. None of these
Marginal product curve intersects average product curve when Average product is
A Maximum B. Minimum C. Rising D. Falling
Demand for a factor of production is a/an demand.
A Joint B. Internal C. External D. Derived
Which of the following is a characteristic of the eccnomic laws?
A They are universal B. They are conditional
C. They are predictable D. They are not optional
Utility and usefulness are
A Equal B. Different C. Similar D. Unrelated
In case of substitutes the cross elasticity of demand is
A Negative B. Positive C. Zero D. Infinite
Law of demand is based on the
A. Law of increasing return B. Law of diminishing return
C. Law of diminishing M.U D. None of these
Which of the following is NOT a function of the entrepreneur?
A. To supervise B. To innovate C. To lend money D. To prepare plan
What is the number of sellers in Perfect competition?
A One B. Two C. A few D. Large
With an increase in the supply of money the quantity demanded '
A Increases B. Decreases C. Becomes zero D. Remains the same
When demand curve shifts to the left it means (in demand).
A Extension B. Contraction C. Fall D. None of these
The formula of point elasticity of demand is used when
A There is a large change in price B. There is a small change in price
C. There is no change in price D. There is no change in demand
" Which year did Professor Adam Smith write “Wealth of Nations™?
A. 1878 AD B. 1776 AD C. 1876 AD D. 1778 AD
The necessary condition for equilibrium position of a firm is
A MC=MR B. MC>MR C. MR>MC D. MC=AC
Human wants ’
A Create economic problem B. Compete with each other
C. Can be satisfied easily D. Both Aand B
Total cost curve
A Starts from origin B. Touches x-axis
C. Touches y-axis D. None of these
Efficiency of land depends upon the forfof land.
A Price B. Nature C. Mobility - D. Demand

Marks Obtained:

Total Marks:
]
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V) ECONOMICS HSSC-I

Time allowed: 2:35 Hours Total Marks Sections B and C: 80

NOTE: Answer any fifteen parts from Section ‘B (a)' one part from Section ‘B(b)' and any three questions
from Section ‘C’ on the separately provided answer book. Use supplementary answer sheet l.e.
Sheet-B if required. Write your answers neatly and legibly.

SECTION — B {Marks 50)

Q.2 a Attempt any FIFTEEN parts. The answer to each part shouid not exceed 3 to 5 lines. {15 x 3 = 45)

() Define any three aspects of Utility.

(ii) Write any three causes of the Rise and Fall in demand.

(i) What is meant by the Elasticity of supply?

(iv) Define Applied economics.

(V) Define Economic problem.

(vi) What are the reasons for Negative slope of demand curve?

{vit) Define Macro Economics.

(viil) Define Variable. Differentiate between Continuous and Discontinuous variables,

{ix) Write any three kinds of mobility of labour.

(x) Solve the following equations to find equilibrium price and quantity, when Qd=Qs:
(-20+2P =0 0-5-3P=0

{xi) What is the difference between Stock and Supply?

xn Write any three factors which determine the scale of production.

(xiit} Wirite the conditions for perfect competition in market.

Xiv) What is meant by least cost combination of factors of production?
xv) Write the reasons for low wages in Pakistan.

Xvi) Differentiate between Gross Rent and Net Rent.

xviil)  Write any three rules involved in Tabulation.
Xix) Graphically show the five possibilities of the Elasticity of supply.

(

(

(

{xvii)  What is meant by Windfall gains and losses?

(

(

{xx) Wirite any three merits of Joint Stock companies.
(

XXi) Differentiate between the Economic and Non-economic wants,

h. Attempt any ONE part. (1x5=5)
(i Write a note on steps of capital formation from Saving to Real Investment.

(i) Explain the determination of Narmal Price in the short period.

SECTION - C {Marks 30)

Note: Attempt any THREE questions. All questions carry equal marks. (3x10=30)
Q.3  Explain the law of Supply with the help of table and graph.

Q.4  Whatis meant by equilibrium price? Expiain the effect of the foliowing on equilibrium price and quantity by
drawing diagrams.
a, Demand increases more than increase in supply

b. Demand and Supply fall equally
Q.5 Critically examine Marginal Productivity theory of wages.

Q.6 Expiain internal and external economics of scale.

—-—1HA 1314—
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